IB Math HL1

Exponential Functions WS

Consider the equation 
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.  Complete the table and graph the function.  Label the asymptote.
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	1.  Using the parent function 
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, write the equations for the following transformations:

	a.
	Up 4 units: __________________
	b.
	To right 3 units: ________________

	c.
	To the left 5 units: _________________
	d.
	Down 2 units, to right 3 units: ________________

	e.
	Reflect across the x-axis: ______________
	f.
	Reflect across the y-axis: ___________________


[image: image50.emf]-5 -4 -3 -2 -1 1 2 3 4 5

1

2

3

4

5

6

7

8

9

10

x

y

[image: image51.emf]Graph each of the following functions.
2. 
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3. 
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	Graph each exponential function on a separate set of axes.

	6.
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	7.
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	Find the equation of each graph. 

	12.
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	13.
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	14.
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Answers
	1a.
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	d.
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	f.
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	2.
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	6.
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	7.
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	8.
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	9.
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	10.
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	11.
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